H & 0l & AHS B Ml A

A skt
M Btli=ds
tel: 2u=sXd |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
St 14,894,021 18,250,592 A3,356,571
= 1,997,155
[ 20,000
Il 271,950
< 3,437,500
= 9,167,416
= E 1,012,430 1,196,320 183,890
= 8,215
Il 260,750
== 85,720
o 657,745
Etl=RE =4 1,012,430 1,106,320 A93,890
= 8,215
Jl 260,750
== 85,720
= 657,745
etz gdat 22,290 36,300 214,010
201 er23| 11,964 12,800 A836
01 At2teltl 11,964 12,800 A\836
oZ3li=gAl EE= MH S
100,000& %513 5,100
oE2H=LR=T SEH
8,000 63 143! 6,864
202 04| 6,500 9,000 A2,500
01 SLHoIH 6,500 9,000 2,500
o2als Met gf A
20,0003 x5 »65 6,500
203 HR=AH] 3,826 4,500 NI
03 A= PR F&IH| 3,826 4,500 N674
oEstAIYR = 956,300 *4= | 3,826
ddEsE X3 250,280 267,680 A17,400
== 44,000
[Ea 206,280
307 212+01& 250,280 267,680 A17,400
< 44,000
s 206,280
02 LB HAHE L 160,280 177,680 A17,400
oFststu 24
60,0003 *2A| 2++3H +483] 17,280
oXlS2st 2435t At 45,000,000 45,000
oHAIZSHHA g€= & WFAY
68,000,000 68,000
[ 34,000
T 34,000
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SN ST
M Btli=ds
tel: 2u=sXd |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o0l=g3 gogd 5,000,000 12 5,000
oD RY SHARNLA
2,500,000& %12 2,500
CHPAKTI SASHLA
3,000,000& %12 3,000
OHAZNERTS RIREGA
2,500,000 %12 2,500
oS%Es Zels%al
2,400,000 %52 12,000
CHYNR B2UATH3
8,500,000& 12 8,500
HE=23tlAL XI& 71,250 100,000 A28,750
307 lztol & 71,250 100,000 A28,750
04 DIZHHAFAIIE X 71,250 00,000 A28, 750
CRHSSS0ISY SFI|IEA
18,000,000& *13] 18,000
oddgul AU 6,125,000 <22 12,250
oYHel NAMNT HSEaA
500,000& %132 6,500
oXdatn JZH 4,000,000& 12} 4,000
SEWAIEAE R AS22A
26,000,000& *12] 26,000
olts MAISS=AL X1
500,000 *9IH A 4,500
Stz A X2 16,430 32,850 16,420
= 8,215
= 8,215
307 glztol & 16,430 32,850 216,420
= 8,215
o 8,215
02 2IZHBYAIAE £ 16,430 32,850 16,420
o=A20F Ol=Z AL N2 ALY
16,430,0002 16,430
= 8,215
s 8,215
dgeistssH &0t 14,000 14,000 0
< 4,000
s 10,000
307 glztol & 14,000 14,000 0
= 4,000
= 10,000
04 CIZHHAMAMH 2 & 14,000 14,000 0
ocHIUKM=FM FIt
14,000,000 x12] 14,000
=S 4,000
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A skt
M Btli=ds
el EtollzskE =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 10,000
SEE0I=EAMS 370,630 343,090 27,540
Jl 260,750
= 31,120
Ea 78,760
307 gl2to| & 370,630 343,090 27,540
Jl 260,750
= 31,120
= 78,760
05 2I2HRIE S 370,630 343,090 27,540
o244 SEE30ISHAIY
130,000 %2,851H 370,630
) 260,750
= 31,120
= 78,760
felsul Ol=2 2l 16,200 14,400 800
201 eer23y| 16,200 14,400 800
01 AtR2t2|HI 1,500 2,000 A500
oMAIEA EE2E I M S
150,000& * 102 1,500
02 3224l 13,700 12,400 1,300
oclsUl s &JIks S
600,000& 122 7,200
o2c|sUl Ol=&t AIERA
4,500,000& 4,500
oSl Ol=2 AREx 89
2,000,000& %12 2,000
S= 2 X¥ 22,000 22,000 0
< 6,600
s 15,400
307 glztol & 22,000 22,000 0
= 6,600
= 15,400
02 2IZHBYAIHE £ 22,000 22,000 0
oS5 AElls2 2
22,000,000 * 10 £ 22,000
=S 6,600
s 15,400
SotRi 2E 2 38 5,134,286 4,534,350 599,936
= 1,862,940
Jl 11,200
= 913,120
o 2,347,026
dSEs A2 2E € 2 2,053,286 3,530,320 1,477,034
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A skt
M 2RM BE L @B
thel: MES2st It 28 & 22| (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 329,240
Jl 11,200
= 75,200
= 1,637,646
SEHEIN 2 ds 16,400 16,400 0
= 8,200
Ea 8,200
301 EtE NS 14,400 14,400 0
=S 7,200
s 7,200
14 0Bt 2a3 14,400 14,400 0
oFREEM ERA Hdsld=
1,000,000 x1&* 122 12,000
< 6,000
= 6,000
RS M4 FIM MK
100,000 x2&* 122 2,400
= 1,200
o 1,200
307 21201 & 2,000 2,000 0
< 1,000
[Ea 1,000
04 QIZHHAIAIRH 2 X 2,000 2,000 0
o REEZS M SHAAXHA
2,000,000& %12 2,000
= 1,000
= 1,000
TSLAL 22t S ALY 80,000 52,500 27,500
= 32,000
s 48,000
307 @I2t01 & 80,000 52,500 27,500
= 32,000
[Ea 48,000
02 LB AANHEE 80,000 52,500 27,500
SUSIEID BoHY L)
80,000,000 80,000
= 32,000
= 48,000
Ol RE=2at74 2=, SEAMY 10,080 16,800 N6,720
= 5,040
o 5,040
307 @120l & 10,080 16,800 AN6,720
= 5,040
o 5,040
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M 2RM BE L @B
thel: MES2st It 28 & 22| (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 10,080 16,800 N6,720
S MIAIFA St=2 AE Mgl
10,080,000 10,080
= 5,040
Ea 5,040
NAHSE 23 S A 150,000 88,500 61,500
= 75,000
o 75,000
201 2= 150,000 88,500 61,500
= 75,000
= 75,000
03 A= &I 150,000 88,500 61,500
SHHUSM BN B2 T2
150,000, 0002 150,000
= 75,000
Ea 75,000
HAISA 2N HUI23H M2E SEAMY 789,886 2,600,000 A1,810,114
401 Al HIZ R 0HbI 789,886 2,600,000 /1,810,114
01 AlZ8| 789,886 2,540,000 A1,750,114
oHAIRL HAME SHHIZ2S S4AY (2021
E CH =8%) 789,886,000 789,886
NAISAHEAME) SEEE2L 136,400 122,400 14,000
= 67,000
= 69,400
201 er2 3| 136,400 122,400 14,000
= 67,000
Ea 69,400
02 S3=gHl 136,400 122,400 14,000
SBINHSATAIEIE B/]
2,400,000& %12 2,400
oNAIRL Bt=2 MY SEEE2 28
= 134,000,000 134,000
S 67,000
= 67,000
HIAIsAEE KA (BH=2 M&) 24,500 39,000 A14,500
= 12,250
o 12,250
201 fet= 3| 24,500 39,000 14,500
= 12,250
s 12,250
02 s3=gHl 24,500 39,000 214,500
20248 MR SEXIAMS(E=22 M)
24,500,000 *13] 24,500
= 12,250
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A skt
M 2sgM BE Y @S
thel: MES2st It 28 & 22| (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | = 200,000
A8 23 22 3,081,000 1,004,030 2,076,970
= 1,533,700
= 837,920
Ea 709,380
DINFSE L S22 24T K2 (HLA 800,000 0 800,000
AQUHALE FH QUHLISIM A & 2HE)
= 560,000
= 96,000
[Ea 144,000
401 AIEHIX S0 26,000 0 26,000
= 18,200
== 3,120
= 4,680
02 Zeltl 25,000 0 25,000
coulpsid &) ¥ 21g L2l
25,000,000& 25,000
= 17,500
& 3,000
= 4,500
03 A2 2 0HYI 1,000 0 1,000
CQULIBIA | ¥ 21
1,000,000& 1,000
= 700
= 120
= 180
402 2IZtA=01d 774,000 0 774,000
= 541,800
= 92,880
= 139,320
02 QI X2 AL E R (0IHTHE) 774,000 0 774,000
oQuLpsE &) ¥ 218
774,000,000 774,000
= 541,800
== 92,880
= 139,320
2DVNEZ23 L SSESSHH SFH| X2 (A 600,000 0 600,000
SAOIOIEtO EHar = ZALE 2AE")
= 420,000
= 72,000
= 108,000
401 Al HIZ 2018 22,000 0 22,000
= 15,400
< 2,640
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A skt
M 2sgM BE U ML
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 3,960
02 Zeltl 21,000 21,000
oXZAM 2HE Zeldl 21,000,000 21,000
= 14,700
= 2,520
o 3,780
03 AIESTHYI 1,000 1,000
o XAE HE 1,000,000 1,000
= 700
= 120
o 180
402 2I2FX=01 & 578,000 578,000
= 404,600
= 69,360
= 104,040
02 QI A2 AL E R (0IHTHE) 578,000 578,000
o XA HE 578,000,000 578,000
= 404,600
& 69,360
2 104,040
INISE L SS2EH SEZUIK (LA 2 140,000 140,000
QUIAIE =8 otd A=FHl &)
= 98,000
= 16,800
= 25,200
402 QIF X201 & 140,000 140,000
= 98,000
[ 16,800
T 25,200
02 QI X2 AL EE (01X THE) 140,000 140,000
ootd A5 Ul £ 140,000,000& 140,000
= 98,000
== 16,800
o 25,200
2VNE 2 & SE2HM E+FHIXA (YL atH 300,000 300,000
SISX| L2EA & QR ANK AIZEAL
= 210,000
< 36,000
[Ea 54,000
207 ARl 300,000 300,000
= 210,000
=S 36,000
s 54,000
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50,000
50,000

40,000
40,000
40,000

90,000
90,000
90,000
30,000
30,000

35,000
6,000
9,000

50,000

35,000
6,000
9,000

50,000

50,000

35,000
6,000
9,000

50,000

35,000
6,000
9,000

50,000

35,000
6,000
9,000

50,000

50,000

35,000
6,000
9,000

30,000

21,000
3,600
5,400

30,000

21,000
3,600
5,400
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A skt
M 2sgM BE U ML
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 30,000 30,000 0
oWMAL HITILIR = |XI2el
30,000,000& 30,000
= 21,000
< 3,600
o 5,400
DINHLSEH L SS2E S4FH| N (HSA 15,000 12,000 3,000
DEM =X2el )
= 10,500
& 1,800
= 2,700
401 Al HIZL 201 15,000 12,000 3,000
= 10,500
< 1,800
[Ea 2,700
01 Al&HI 15,000 12,000 3,000
oFAL D0 RAl2el
15,000,000 15,000
= 10,500
== 1,800
[Ea 2,700
DINES L S22 2450 VA(FBHS 20,000 20,000 0
X o= & FHEH)
= 14,000
& 2,400
Ea 3,600
401 Al HIZL S 0HYI 20,000 20,000 0
= 14,000
s 2,400
s 3,600
01 AlZ8| 20,000 20,000 0
CHEXH KE L FeFY)
20,000,000 20,000
= 14,000
=S 2,400
s 3,600
DINHSSHY L S=2a 24FH N (Heel 15,000 15,000 0
WRRX Ol X FHEFHI)
= 10,500
s 1,800
s 2,700
401 AIEHIZ SR OHYI 15,000 15,000 0
= 10,500
= 1,800
o 2,700
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A skt
M 2sgM BE U ML
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 15,000 15,000 0
oECIBARA M= & =HEY|
15,000,000& 15,000
= 10,500
< 1,800
= 2,700
DINHLSH L SS2e 24T N (SHe 18,000 14,000 4,000
LEILR SRI2e)
= 12,600
& 2,160
= 3,240
401 Al HIZL 201 18,000 14,000 4,000
= 12,600
< 2,160
[Ea 3,240
01 Al&HI 18,000 14,000 4,000
ooHE?| LEIUR SR
18,000,000 18,000
= 12,600
== 2,160
[Ea 3,240
DINT2sW L S=25 2= U (SEe 28,000 0 28,000
SEIUR XIEE 28l £2)
= 19,600
[ 3,360
Ea 5,040
401 Al HIZL S 0HYI 28,000 0 28,000
= 19,600
s 3,360
s 5,040
01 AlZ8| 28,000 0 28,000
oXl&E EH Edl 8 28,000,000 28,000
= 19,600
< 3,360
= 5,040
AR BERE] NBMY (320 N AN & 100,000 %,000 10,000
S 9 Ad2ALIAY)
= 70,000
=S 9,000
s 21,000
401 Al HIZ R 0HHI 100,000 90,000 10,000
= 70,000
= 9,000
Ea 21,000
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A skt
M 2sgM BE U ML
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 100,000 90,000 10,000
YN 42 U AN A
100,000,000 100,000
= 70,000
< 9,000
= 21,000
SO MLSXAE S (ZUAR ALAE A 25,000 0 25,000
)
= 17,500
o 7,500
401 Al HIZ S OHbI 25,000 0 25,000
= 17,500
s 7,500
01 Al&HI 25,000 0 25,000
CEHYNE 2HAE HLAS
25,000,000 25,000
= 17,500
= 7,500
et HOIE st MEZ HE(HEAY) 590,000 0 590,000
= 295,000
[Ea 295,000
401 AIEHIX R0 530,000 0 590,000
=S 295,000
s 295,000
01 AlZ8| 590,000 0 590,000
o HOIS atxt MEd A
590,000,000 590,000
< 295,000
s 295,000
HAAL BFY HASH FHIHIALE 200,000 0 200,000
= 200,000
401 AIEHIZ R HYI 3,500 0 3,500
< 3,500
02 Zcltl 3,500 0 3,500
oAl FRY ASH FHIHIAMY 2l
] 3,500,000& 3,500
== 3,500
402 2IZtA=01d 196,500 0 196,500
=S 196,500
02 QI X2 AL EE(OIHTHE) 196,500 0 196,500
oUSHAl BEY ST EHHY| A
196,500,000 196,500
= 196,500
AN 23 (22 AN AIE FHISAL 30,000 0 30,000
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A skt
B 2sisi HE U WS
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 30,000
401 AIEHIX 20 30,000 0 30,000
=S 30,000
01 Al&H| 30,000 0 30,000
oMY ZSHH(BRAL) A4 HEISAH
30,000,000& 30,000
= 30,000
A AIEIHSE AL 50,000 0 50,000
= 50,000
402 2I2F X201 & 50,000 0 50,000
< 50,000
02 QI X2 AL E R (01X THR) 50,000 0 50,000
S AL Al AL 50,000,000 50,000
= 50,000
AL A Z3M 53 XA 20,000 0 20,000
= 6,000
[Ea 14,000
307 elzto| & 20,000 0 20,000
= 6,000
o 14,000
02 QB EANEEX 20,000 0 20,000
oWMIAL AF 2o 53 A
20,000,000& 20,000
[ 6,000
Ea 14,000
NS=H 243t 1,191,080 1,614,400 A423,320
NSEH |42 1,191,080 1,614,400 N423,320
=M=g 66,080 124,400 /58,320
201 fer= 3| 26,080 62,400 N\36,320
01 At 2|l 26,080 62,400 A36,320
o=Nl MOtA BOt?IAs HAH =H
250,0003 7 H =23 3,500
ocZddZENRA Y +E
70,0002 182 +83] 10,080
o= AIRES 78 & ARS 7Y
500,000 52 2,500
o=NEE 1,000,0002 %52 5,000
oxgd FH EX Iz
5,000,000& 12l 5,000
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